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In [1]: import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
# LUEIDDTATZ YN [3FEDMIS

In [2]: Data=pd. read_csv(
“D:2022_%43B#k st /StatData/StatData02_1. csv”,
skiprows=1, # 1{T7E &#MRIL3
names=["No', "Height', 'Weight'1)

del Data['No'] # No H 5 LFRE
Data. head ()

Out[2]:
Height Weight

0 46.0 2700
1 49.5 3220
2 50.0 3360
3 50.0 3500
4 49.0 3120

In [3]: # plt. figure(figsize=(6,4)) # ROKEZE (6,4 NTFI4Ik
plt. scatter (Data[ Height' ], Data[ Weight'],¢="blue’) e IR TN
plt. xlabel (' Height")
plt.ylabel ( Weight')
plt. savefig(' StatData02_1_HW-SP. jpeg’) # EIRT7 74 /L (png) & LTRE (HEEXTA LU RYID)
plt. savefig (' D:2022 #iIB#fEt2/PNG/StatData02 1 _HW-SP.png’) # E{& 7 74 JL (png) & L THERE (/IXiE!
P EBRI7AILOBRKE LT, png jpeg eps L EMIEETE D
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In [4]: # EURDHTADSA TS
from sklearn import |inear_model
model=Iinear_model. LinearRegression ()



In [5]: x=np.c_[Data[ Height 1] #ZE € Height 2035 L% MLELTHE
y=np. ¢c_[Data[ Weight']] #ZEE Weight a5 LAY MLE L THIH
model. fit(x,y) # EREHRERDD

[

Out[5]: LinearRegression()

In [6]: plt.scatter(x,y,color = "blue’) #ER X
plt. plot (x, model. predict(x),color = "red’) HENRE LR
plt. xlabel (' Height')
plt.ylabel (Weight’)

Out[6]: Text(0, 0.5, 'Weight')
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In [7]: plt.scatter (x,y, color="blue") it B

plt. scatter (x, model. predict (x), color="red , marker= "x') # &xIZxt9 HyDFIE{E (fitted value) &=
plt. xlabel (' Height")
plt.ylabel (Weight')

Out[7]: Text(0, 0.5, 'Weight')
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In [8]: plt.scatter(x,y, c="blue")

plt.plot

(x, model. predict (x),c="red") #

plt. scatter (x, model.predict(x),c="red , marker="0")
plt. xlabel (Height")
plt.ylabel ( Weight")

Out[8]: Text(0, 0.5, 'Weight')
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In [9]: p=model. coef_

T
45 45 a7 43 49 50 51 52 53
Height

IRESR y=px+tq DEE

t BIRE
g=model. intercept_ # ENRERR y=px+q DU

p.q

Outl[9]: (array([[194.183089641]1), array([-6423.04767959]1))

In [10]: #p, q EBLTLAICHEOTHASTNDSDT, BIELITERY HT

p=p[0] [0]
a=q[0]

# [0] 7L DEOFBDERZHMET S

print (p, q)

194.18308963763505 -6423. 047679593132

In [11]: # EREHROAEX
print ( y=px+q", 'p="+str(np.round(p, 2)), 'o="+str (np. round(a, 2)))

y=px+q p=194.18 g=—6423. 05

In [ 1:





